

## Ajouter et Soustraire Deux Fractions Mixtes (H)

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque résultat.

1.  $3\frac{4}{5} + 8\frac{1}{5} = \text{---} + \text{---} = \text{---} = \text{---} =$

2.  $7\frac{2}{3} - 3\frac{1}{3} = \text{---} - \text{---} = \text{---} = \text{---}$

3.  $6\frac{3}{4} + 3\frac{3}{4} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

4.  $7\frac{2}{3} + 2\frac{2}{3} = \text{---} + \text{---} = \text{---} = \text{---}$

5.  $5\frac{1}{6} + 4\frac{2}{6} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$

6.  $2\frac{7}{9} + 6\frac{2}{9} = \text{---} + \text{---} = \text{---} = \text{---} =$

7.  $3\frac{1}{2} - 1\frac{1}{2} = \text{---} - \text{---} = \text{---} = \text{---} =$

8.  $9\frac{6}{8} - 6\frac{5}{8} = \text{---} - \text{---} = \text{---} = \text{---}$

9.  $4\frac{2}{5} - 1\frac{2}{5} = \text{---} - \text{---} = \text{---} = \text{---} =$

10.  $7\frac{5}{8} - 1\frac{2}{8} = \text{---} - \text{---} = \text{---} = \text{---}$

## Ajouter et Soustraire Deux Fractions Mixtes (H) Réponses

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque résultat.

$$1. \quad 3\frac{4}{5} + 8\frac{1}{5} = \frac{19}{5} + \frac{41}{5} = \frac{60}{5} = \frac{12}{1} = 12$$

$$2. \quad 7\frac{2}{3} - 3\frac{1}{3} = \frac{23}{3} - \frac{10}{3} = \frac{13}{3} = 4\frac{1}{3}$$

$$3. \quad 6\frac{3}{4} + 3\frac{3}{4} = \frac{27}{4} + \frac{15}{4} = \frac{42}{4} = \frac{21}{2} = 10\frac{1}{2}$$

$$4. \quad 7\frac{2}{3} + 2\frac{2}{3} = \frac{23}{3} + \frac{8}{3} = \frac{31}{3} = 10\frac{1}{3}$$

$$5. \quad 5\frac{1}{6} + 4\frac{2}{6} = \frac{31}{6} + \frac{26}{6} = \frac{57}{6} = \frac{19}{2} = 9\frac{1}{2}$$

$$6. \quad 2\frac{7}{9} + 6\frac{2}{9} = \frac{25}{9} + \frac{56}{9} = \frac{81}{9} = \frac{9}{1} = 9$$

$$7. \quad 3\frac{1}{2} - 1\frac{1}{2} = \frac{7}{2} - \frac{3}{2} = \frac{4}{2} = \frac{2}{1} = 2$$

$$8. \quad 9\frac{6}{8} - 6\frac{5}{8} = \frac{78}{8} - \frac{53}{8} = \frac{25}{8} = 3\frac{1}{8}$$

$$9. \quad 4\frac{2}{5} - 1\frac{2}{5} = \frac{22}{5} - \frac{7}{5} = \frac{15}{5} = \frac{3}{1} = 3$$

$$10. \quad 7\frac{5}{8} - 1\frac{2}{8} = \frac{61}{8} - \frac{10}{8} = \frac{51}{8} = 6\frac{3}{8}$$